HONDA CBR1000RR (’12-)
FRAME SLIDERS # H-CBR112FS-BK

[L]

SOCKET HEAD
SOCKET HEAD SLIDER BASE M10 GOLD M12-65(P-1.25)

M10-50(P-1.25) SLIDER BASE [L]-2
(apply loctite)

COLLAR 5-12

SLIDER PUCK
REV-S

COLLAR 20-10

SET SCREW M6-6 SOCKET HEAD M6-15  SLIDER BASE [L]-1

SPLIT WASHER M10 SOCKET HEAD M6-15
(apply loctite)
[R] SOCKET HEAD

M10-60(P-1.25)

LLAR 30-1
co 30-10 SLIDER PUCK

SLIDER BASE [R]

SET SCREW M6-6
SLIDER BASE M10 GOLD

SPLIT WASHER M10



